-What did you like?
-| liked a bike
-Where did you work?
- | worked in New York
- What did you want ?
-l wanted a skateboard



V+ed/V2
MecTt —e/Cyui-e + V+ed/V2
MecT —e/CyLl-e V
MecT —e/CyLl-e+V?



5A/B/E
1. travel a lot

2. stay at a hotel

3. visit your
grandparents

4. help your
parents

-Did You travel a lot?
Yes, | did/ No, | didn’t

- Did you stay at a
hotel? Yes, | did/ No, |
didn’t

- Did you visit your
grandparents? Yes, |
did/ No, | didn’t

- Did you help your
parents? Yes, | did/
No, | didn’t



5. Read Russian and
English books

6. go to the cinema

7. play games

Did you read Russian and
English books?
Yes, | did/ No, | didn’t

Did you go to the cinema ?
Yes, | did/ No, | didn’t

Did you play games ?
Yes, | did/ No, | didn’t



8. Walk in the park

9. work in the
garden

10. enjoy your
holidays

Did you walk in the park?
Yes, | did/ No, | didn’t

Did you work in the garden?
Yes, | did/ No, | didn’t

Did you enjoy your holidays?
Yes, | did/ No, | didn’t



0-1 mistake=5
3-2 mistakes=4
4-5 mistakes=3
6 and more mistakes=2



5B/1'/0
1.In autumn it is often
cold.
2. In autumn nights are
long and dark.
3. In autumn the sky is
often grey.
4. In autumn the wind is
cold and strong.
5. In autumn trees are red
red and yellow.
6. In autumn
scoolchildren are at
school.

In summer it wasn’t often cold

In summer they weren’t long
and dark.

In summer it wasn’t grey

In summer it wasn’t cold
and strong

In summer THEY weren’t.

In summer THEY weren’t
at school



1)In autumn Sally In summer she
doesn't roller-skate. roller-skated

2)In autumn Mr.
Barker doesn't play
tennis in the park.

In summer he
played tennis

3)In autumn John
doesn't visit his
cousins in Scotland.

In summer he visited
his cousins



4)In autumn the
Barkers don't enjoy
their Picnics.

5) In autumn
Margaret Barker
doesn't cook picnic
food.

6)In autumn Chase
doesn't walk in the
park a lot.

In summer the Barkers
enjoyed their picnics

In summer she cooked
picnic food.

In summer Chase
walked
in the park a lot.



0-2 mistakes=5
3-4 mistakes=4
5-6 mistakes=3
7 and more mistakes=2



